qEIE: U U 9 arer geauer / GENERALLY USED ABBREVIATIONS

a/c = Account /@ Csh = Cash/a=d Pos = Point of Sale/dféz aifw &=

adj = Adjustment /errirm dep = Deposit/zm Pr = Principal/qsa

Amt = Amount/a® Dft = Draft/gm= proc = Processing Charge/nfiar ware

Ar = Arrear/=@marafy dish/dsh = Dishonor/=eiga rd = Recurring Deposit/ amadi smr

bal = Balance/#s DR = Debit/=1# ret/rtn = Return/ams

Capn = Capitalisation/ s DOB = Date of Birth/s= mrite Rnd = Round off/qiifs

Cha/ch = Charge/7sr eft = Electronic Fund Transfer/e#aer e ziow sb = Savings Bank/7=a §%

Chg = Cheque/d= Inop = Inoperative/ffi SC = Short Credit/=ié #fez

CIF = Customer Information File/ure= ge= s Ins = Insurance/4m S51/S0/SORD = Standing Instruction/=r arg3w

Clos = Closure/s=rt Int/In = interest/=rs S5/D/W/H/o = Son/Daughter/Wife/Husband of/ gga/ git/ush/uf
| Coll = Collection/=urge lon/loan/=wr tr/trf/xfer = Transfer/ stz

Comm. = Commission/sfz min = Minimum/=mes txn = Transaction/&waa

COR/CORR = Correction/sew= os = Qutstanding/s@@mwf@ Wdl = Withdrawal/ s

G =Crecit /= P&T = Postal Charges/z=s m=m +MOD bal = Total balance (SB+linked MOD a/c)/5= == #% (v #s + se=F wm)

YRAg -
0SBI STATEBiEK 0?@45&”‘3}1: SHIKRAPUR Code: 15849

S NO 443 & 14 BIZY BAZAR. GRO

UND FLOOR
Email:sbi.15849@sbi.co. in
Phone Noc.: 7875559013 Buss. Hrs:11:00:00-17:00:
IFSC: SBIN0015849 MICR: 411002099
. Name: Mr. SANDIP POPAT DAPHAL& Mrs. JAYA SANDIP DAPHAL
S/D/H/o : POPAT KISAN DAPHAL MOP: EITHER OR SURVIVOR
CIF Number : 85523818146 A/c Opening Dt: 09/05/201
Account No.: 33828649927 Nom Reg No:
r A/c Type : SAVINGS BANK ACCOUNT DSP Customer’s PAN: AQZPP6697
| Address ¢ A/P- DHAMARI , Date of Issue: 24/11/2021
‘ TALUKA- SHIRUR, DUPLICA45000

DISTT- PUNE
Phone No.
Email -
D.O.B.(If Minor):
PPO Number
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Please paste photograph properly.

Do not use staple pins.
Photographis) needs to be attested by issuing authority.
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